
APENDICE 2

Ejercicio de Correlación de toma de datos de Diciembre de 2006

(x =  70.391

(y = 35

( x2 = 569.542

( y2 = 127

(xy = 239.23

r ( =                                              [ (xy – ((x(y)/n ]2

[ (x(-  ( ((x)(/n ) ] [ (y(- ( ((y)(/n ) ]
r2 =                                           [ (239.23) – (2463.685/11) ]2
                             ((569.542) – (4954.893/11)) ((127) – (1225/11 ))

r2 =                                             [ (239.23) – (223.971) ]2
                                           (569.542 – 450.445) (127 – 111.364) 

r2 =                           (15.259 )2         =                           232.837

                          (119.097) (15.636)                               1862.201

r =    ( 0.125     =   0.3536

rc = 0.3536

rt (0.01) = 0.7348 

rt (0.05) = 0.6021

0.7348 > 0.3536

rt > rc  =  Acepto Ho.

Ejercicio de Correlación de toma de datos de Diciembre de 2007

(x =  84.928

(y = 26

( x2 = 804.957

( y2 = 72

(xy = 224.57

r ( =                                              [ (xy – ((x(y)/n ]2

[ (x(-  ( ((x)(/n ) ] [ (y(- ( ((y)(/n ) ]
r2 =                                           [ (224.57) – (2208.128/11) ]2
                             ((804.957) – (7212.765/11)) ((72) – (676/11))

r2 =                                             [ (224.57) – (200.738) ]2
                                           (804.957 – 655.71) (72 – 61.455) 

r2 =                           ( 23.831 )2         =                           567.917

                          (149.247) (10.55)                                1574.55

r =    ( 0.361     =   0.601

rc = 0.601

rt (0.01) gl (9) = 0.7348 

rt (0.05) gl (9) = 0.6021

0.7079 > 0.601

rt > rc  =  Acepto Ho.

